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Section-A
Choose the correct option for the following.
1) Which of the following best describes the arrangement of particles in a gas?
a. Tightly packed, definite shape and volume
b. Tightly packed, definite shape but no definite volume
c. Loosely packed, no definite shape but definite volume
d. Loosely packed, no definite shape or volume

2) Which of the following is an example of a chemical change?
Melting ice cubes

Dissolving sugar in water

Burning wood

Cutting paper into smaller pieces
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3) What type of change occurs when water evaporates to form water vapor?
a. Physical change
b. Chemical change
c. Nuclear change
d. None of the above

4) On converting 25 °C, 38 °C and 66 °C to kelvin scale, the correct answer will be
a. 298 K, 311 Kand 339 K
b. 298 K, 300 K and 338 K
c. 273 K, 278 K and 543 K
d. 298 K, 310 K and 338 K

5) Seema visited a Natural Gas Compressing Unit and found that the gas can be liquefied
under specific conditions of temperature and pressure. While sharing her experience with
friends she got confused. Help her to identify the correct set of conditions

a.Low temperature, low pressure

b.High temperature, low pressure

c.Low temperature, high pressure

d. High temperature, high pressure

6) The property to flow is unique to fluids. Which one of the following statements is correct?

a. Only gases behave like fluids
b. Gases and solids behave like fluids
c. Gases and liquids behave like fluids
d. Only liquids are fluids

7) Which of the following phenomena would increase on rising temperature?
a. Diffusion, evaporation, compression of gases
b. Evaporation, compression of gases, solubility
c. Evaporation, diffusion, expansion of gases
d. Evaporation, solubility, diffusion, compression of gases



8) A few substances are arranged in the increasing order of ‘forces of attraction’ between their
particles. Which one of the following represents a correct arrangement?

a. Water, air, wind

b. Air, sugar, oil

c. Oxygen, water, sugar
d. Salt, juice, air

ASSERTION -REASON TYPE QUESTIONS

Choose the correct options for the following questions.
a) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.
b) Both Assertion and Reason are true but Reason is not the correct explanation of Assertion.
c) Assertion is true but Reason is false.
d) Assertion is false but Reason is true

8)

9)

10)

11)

12)

Assertion: A gas can easily be compressed by applying pressure.

Reason: Since the inter-particle spaces between gases are very large, they can decrease by

applying pressure.

Assertion: When a solid melt, its temperature remains the same.

Reason: The heat gets used up in changing the state by overcoming the forces of attraction

between the particles.

Assertion: There is no change in the temperature of a substance when it undergoes a

change of state though it is still being heated.

Reason: The heat supplied is absorbed either as latent heat of fusion or as latent heat of
vapourisation.

Assertion: The intermolecular forces in solid state are stronger than in

liquid state.

Reason: The space between the particles of matter is called intermolecular

space.

Assertion: Naphthalene does not leave any residue when kept open for

sometime

Reason: The conversion of a solid directly into gas is called

Condensation.

CASE STUDY/DATA BASED QUESTIONS (4 M)

CASE: A teacher asked a group of students to heat a given sample of ice and to draw a heating

curve representing temperature rise as a function of heat added. After performing
experiment at one atmospheric pressure, the students gave the following curve.



D

0 Heat added
a) What is the physical state of substance at point y?
b) Define boiling point.
c) Express the boiling point of water in Kelvin scale.

VERY SHORT ANSWER TYPE QUESTIONS (2M)

13) A sample of water under study was found to boil at 102°C at normal temperature and
pressure. Is the water pure? Will this water freeze at 0°C? Comment.

14) Conversion of solid to vapour is called sublimation. Name the term used to
denote the conversion of vapour to solid

15) Look at Fig. and suggest in which of the vessels A, B, C or D the rate of evaporation will

be the highest? Explain.
\’:‘.LI;Z Fan

SHORT ANSWER TYPE QUESTIONS (3M)

16) Substance ‘A’ has high compressibility and can be easily liquefied. It can take up the shape
of any container. Predict the nature of the substance. Enlist four properties of this state of
matter.

17) 1t is a hot summer day, Priyanshi and Ali are wearing cotton and nylon clothes
respectively. Who do you think would be more comfortable and why?

18) Kinetic energy of particles of water in three vessels A, B and C are Ea, Es and Ec
respectively and Ea > Eg > Ec. Arrange the temperatures, Ta, Tgand Tc of water in the

three vessels in increasing order.

19) Why does the temperature of a substance remain constant during its melting point or
boiling point?

20) Substance ‘A’ has high compressibility and can be easily liquefied. It can take up the
shape of any container. Predict the nature of the substance. Enlist four properties of this
state of matter.

21) Explain interconversion of three states of matter with the help of flow chart. Name the
process of each interconversion.



LONG ANSWER TYPE QUESTIONS (5 M)

22) Explain how the rate of evaporation of a liquid is affected with:
e Increase in temperature of the liquid.
e Decrease in exposed surface area.
e Increase in moisture in the surrounding air.
e Increase in wind speed.
23) While heating ice in a beaker with a thermometer suspended in it, a student
recorded the following observations:
Time (inmin,) 0 1 2 3 |415] 6 7 8 10| 15| 20 | 25 | 30 | 35
Temp. (in °C) -3 | ~l 0 0 5|18 12 15 19 | 22 | 80 | 50 | 73 | 100 | 100
Based on the above observations, answer the following questions:
(a) State the change(s) observed between 2-3 min. and name the process involved.
(b) Between 30-35 min., the temperature remains constant. State the reason for this.
Name the heat involved in the process and define it.
24) Discuss the various factors which affect the rate of evaporation. Latent heat of
evaporation of two liquids A and B is 100 J/kg and 150 J/kg respectively. Which one can
produce more cooling effect and why?
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SECTION A
( Multiple Choice Questions)

1. In the questions given below, there are two Statements marked as Assertion (A) and Reason (R). Read the
Statements and Choose the correct option.

Assertion(A): Industrialisation brought men, women and children to factories.
Reason (R): Working hours were often long and wages were poor.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is correct but (R) is wrong.

(D) (A) is wrong but (R) is correct.

2. In any society, people are bound to have difference of opinions and interests. Which is a better way of
dealing with these conflicts?

(a) By brutal power exercised by the government

(b) By allowing one group to dictate terms to others

(c) By providing equal opportunities to all

(d) By opting for a strong leader who should have all the powers.

3.. The concept of White Revolution is associated with

(a) food crops (b) milk (c)cotton (d) pesticides

4. Who is a person who puts together land, labour and capital?

(a) Moneylender (b) Entrepreneur (c) Zamindar (d) Manager

5. A farmer who works on a piece of 1 hectare of land is treated as

(a) Medium farmer (b) small farmer (c) large farmer (d) none of the above

6. Scope of farming activity is limited in Palampur due to

(a) Fixed amount of land (b) lack of irrigation (c) lack of labour (d) none of the above

7. In the questions given below, there are two Statements marked as Assertion (A) and Reason (R). Read the
Statements and Choose the correct option.

Assertion(A): The Himalayas represent the loftiest and one of the most rugged mountains barrier of the
world.

Reason (R): The Himalayas are most recent landforms.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) 1s correct but (R) is wrong.

(D) (A) is wrong but (R) is correct

8. Working capital stands for

(a) Tools, machines and buildings (b) raw materials and money in hand (c) total share capital
(d) fixed deposits in financial institutions

9. Storming of the Bastille

(a) 14th July, 1789 (b) 14th July, 1798 (c) 14th June, 1789 (d) 14th June, 1798

10. The Bastille symbolised

(a) Benevolence of the king (b) despotic power of the king

(c) armed might of France (d) Prestige and power



11. 18th century French society was divided into

(a) Castes (b) four Estates (c) three Estates (d) two Estates

12. Which of the following constituted the privileged class?

(a) Clergy and peasants (b) Peasants and nobility

(c) First and Third Estate (d) Clergy and nobility

13. The most important of the privileges enjoyed by the clergy and nobility
(a) Right to collect dues (b) ownership of land

(c) Participate in wars (d) Exemption from taxes to the state

14.According to the ‘Theory of Plate Tectonics,” what have been the effects of the movement of the plates?
(a) Change in position and size of continents.

(b) Formation of ocean basins.

(c) Evolution of the present landforms and relief of India.

(d) All of the above.

15. A landmass bounded by sea on three sides is referred to as

(a) Coast (b) Island (c¢) Peninsula (d) None of the above

16. Which of the following divisions of India has the oldest landmass?
(a) The Himalayas (b) The Northern Plains
(c) The Peninsular Plateau (d) The Indian Desert

Section B
( Very Short Answer Type Questions)

17 .. Democracy is all about political competition and powerplay. There is no scope for morality’. Justify
the statement by giving arguments against democracy.

18. Why is educated unemployed a peculiar problem of India?

19.Can you suggest some measures in the education system to mitigate the problem of the educated
unemployed?
20. What can be done by the government to start more non-farm activities in the villages to improve the farmers’
conditions?
Section C

( Short Answer Type Questions)
21. In what ways was the working population in Russia different from other countries in Europe, before
19177

22. Differentiate between Western Ghats and Eastern Ghats

23. Distinguish between Bhangar and Khadar.

Section D
(Long Answer Type Questions)
24. Describe the legacy of the French Revolution for the peoples of the world during the nineteenth and the
twentieth centuries.
25. Explain the Rise of Napoleon Bonaparte.
26. In which field do you think India can build the maximum employment opportunity? Why?

27. Why are women employed in low paid work?

28. How does democracy improve the quality of decision making?

29.What would have happened if India was not a democracy? Could we have stayed together as a single
nation?

30.Write three arguments in favour of democracy.



Section E
( Case Based Questions)

31.Read the source given below and answer the questions that follow:

On the morning of 14 July 1789, the city of Paris was in a state of alarm. The king had commanded troops to move into the
city. Rumours spread that he would soon order the army to open fire upon the citizens. Some 7,000 men and women
gathered in front of the town hall and decided to form a peoples’ militia. They broke into a number of government
buildings in search of arms. Finally, a group of several hundred people marched towards the eastern part of the city and
stormed the fortress-prison, the Bastille, where they hoped to find hoarded ammunition. In the armed fight that followed,
the commander of the Bastille was killed and the prisoners released — though there were only seven of them. Yet the
Bastille was hated by all because it stood for the despotic power of the king. The fortress was demolished and its stone
fragments were sold in the markets to all those who wished to keep a souvenir of its destruction. The days that followed
saw more rioting both in Paris and the countryside. Most people were protesting against the high price of bread. Much
later, when historians looked back upon this time, they saw it as the beginning of a chain of events that ultimately led to
the execution of the king in France, though most people at the time did not anticipate this outcome.

Answer the following MCQs by choosing the most appropriate option:

On 14th July, 1789 the people of the estate attacked the Bastille prison and freed all the prisoners signalling the
start of the

1. first, civil war

2. fourth, Russian war

3. second, movement

4. third, revolution
Which of the following statement is incorrect?
1. The Bastille was the fortress-prison.
2. The Bastille stood for the democratic power of the king.
3. Onthe morning of 14 July 1789, the people of Paris stormed Bastille
4. All are correct
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Read the statements and
chose the correct option:
Assertion (A): The people of France storm the Bastille.
Reason (R): They were hopeful to find King Louis XIV and commander of the Bastille there.
1. Both AandR are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. Aiscorrect but R is wrong.
4. Both A and R are wrong.
What was the immediate cause of rioting in Paris?
1. Atrocities by the commander
2. The high price of bread
3. The killing of women and children
4. All of these

32.Read the extracts and answer the question that follows:
The Himalayas, geologically young and structurally fold mountains stretch over the Himalayas northern borders
of India. These mountain ranges run in a west-east direction from the Indus to the Brahmaputra. The Himalayas
represent the loftiest and one of the most rugged mountain barriers of the world. They form an arc, which covers
a distance of about 2,400 Km. Their width varies from 400 Km in Kashmir to 150 Km in Arunachal Pradesh. The
altitudinal variations are greater in the eastern half than those in the western half. The Himalaya consists of three
parallel ranges in its longitudinal extent. A number of valleys lie between these ranges. The northern most range
is known as the Great or Inner Himalayas. It is the most continuous range consisting of the loftiest peaks with an
average height of 6,000 metres. It contains all the prominent Himalayan peaks.
The folds of Great Himalayas are asymmetrical in nature. The core of this part of Himalayas is composed of
granite. It is perennially snow bound, and a number of glaciers descend from this range.
Questions:

1. The Great or Inner Himalayas is also known as?

2. Give two features of the folds of Great Himalayas.

3. Give two features of the Inner Himalayas.



33.Read the source given below and answer the questions that follow:
In Pakistan, General Pervez Musharraf led a military coup in October 1999. He overthrew a democratically elected
government and declared himself the ‘Chief Executive’ of the country. Later he changed his designation to President
and in 2002 held a referendum in the country that granted him a five-year extension. Pakistani media, human rights
organisations and democracy activists said that the referendum was based on malpractices and fraud. In August 2002
he issued a ‘Legal Framework Order’ that amended the Constitution of Pakistan. According to this Order, the President
can dismiss the national and provincial assemblies. The work of the civilian cabinet is supervised by a National
Security Council which is dominated by military officers. After passing this law, elections were held to the national and
provincial assemblies. So Pakistan has had elections, elected representatives have some powers. But the final power
rested with military officers and General Musharraf himself. Clearly, there are many reasons why Pakistan under
General Musharraf should not be called a democracy. People may have elected their representatives to the national
and provincial assemblies but those elected representatives were not really the rulers. They cannot take the final
decisions. The power to take final decision rested with army officials and with General Musharraf, and none of them
were elected by the people. This happens in many dictatorships and monarchies. They formally have an elected
parliament and government but the real power is with those who are not elected. In a few countries, the real power
was with some external powers and not with locally elected representatives. This cannot be called people’s rule.
Answer the following MCQs by choosing the most appropriate option:
A) What is the meaning of Referendum?

1. Direct vote in which the entire electorate is asked to either accept or reject a particular proposal

2. A form of government in which the rulers are elected by the people

3. Asystem where the majority or elected representatives are allowed to take decisions on behalf of all the

people

4. All of these
B) In the question given below, there are two statements marked as Assertion (A) and Reason (R). Read the
statements and chose the correct option:
Assertion (A): Pakistan not considered a democratic country even after having elections
Reason (R): Despite elections to the national and provincial assemblies, the final powers rested with General
Musharraf and military officers.

1. Both AandR are true and R is the correct explanation of A.

2. Both A and R are true but R is not the correct explanation of A.

3. Aiscorrect but R is wrong.

4. Aiswrong butRis correct.
C)After the passage of the , elections were held to the national and state assemblies.

1. Military rule

2. Referendum

3. Legal Framework Order

4. Both (b)and (c)
D)Does the given source explain the significance of which feature of democracy?

1. Democracy must be based on a free and fair election

2. Inademocracy, the final decision-making power must rest with those elected by the people

3. Inademocracy, each adult citizen must have one vote

4. Democratic government rules within limits set by constitutional law and citizens’ rights

Section F
( Map Skilled Based/ Picture based Questions)

34. Locate and label the following items on the given map

1) Nanda Devi peak

i1) Aravali range

i) Mount Everest

1v) Kanchanjunga

V) state which shares its boundaries with China, Nepal and Bhutan.

Vi) 2 state which shares its boundaries with both China and Pakistan.

vil) 3 state having common land and sea boundary with Pakistan.

viii) 4 An Indian state that shares its boundary with Bangladesh and Myanmar.
1X) 5 Smallest among the States sharing border with Pakistan.
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Section A(1m)

A. Multiple choice questions.

1. The largest cell in the human body is -
(a)Nerve cell
(b) Muscle cell
(c)Liver cell
(d)Kidney cell

2. The nucleus controls all the activities of the cell and acts as a site of DNA
material and protein synthesis. It is composed of some components which all
together give the nucleus its functionality. Here is shown a figure of nucleus
with some of its components labeled as A, B, C and D. can you name these
components correctly?

Structure of Nucdleus
(a) A— Nucleons; B — Chromatin; C — Nuclear membrane; D — Nucleoplasm
(b) A= Nucleus; B — Chromatin; C — Nuclear membrane; D — Nucleoplasm
(c) A= Nucleolus; B — Chromatin; C — Nuclear membrane; D — Nucleoplasm
(d) A— Nucleolus; B — Chromatin; C — Nuclear membrane; D — Nuclear wall

3. Which of the following cellular part possess a double membrane?
(a)Nucleus
(b) Chloroplast
(c)Mitochondrion
(d)AIl of the above
4. Which of the following is not a function of the vacuole in plants?
(a) They store toxic metabolic wastes
(b) They help with the process of cell division
(c) They help to maintain turgidity
(d) They provide structural support
5. Name the person who first coined the term 'Cell'.
6. The word cell was derived from a Greek word which means small room.



Section B(2m)

1. What are the chromosomes made up of?
2. Match the following.
Column A Column B
(p) Control room of the cell (1) Lysosome
(q) Suicidal bag (i) Nucleus
(r) Power house of the cell (1i1) Endoplasmic reticulum
(s) Transporting channels of the cell | (iv) Mitochondria
3. What are multicellular organisms ? Give an example.
4. What is membrane biogenesis?
5. What is plasma membrane made up of?
6. What is the energy currency of the cell?

Section C(3m)

1. State the difference between smooth endoplasmic reticulum and rough

endoplasmic reticulum.

2. When we put raisins in water, what will happen according to the given

solutions?
Hypotonic Isotonic
Solution Solution

B W

are different from eukaryotic cells.

Hypertonic
Solution

Explain the structure and function of Golgi bodies.
Make a comparison and write down two ways in which prokaryotic cells

5. Discuss the contribution of the following scientists to the field of

biology:

(a)Robert Hooke
(b)Robert Brown
(c)Leeuwenhoek

(d) Rudolf Virchow
(e)Watson and Crick

Section D(5m)

1.Sachin’s mother wanted to use some eggs for incubation. Sachin helped his

mother in separating rotten and spoilt eggs from the good ones. He took a bucket of

water to separate them.

(a) How can one separate the rotten eggs from the good ones using water?

(b) What is the shell of egg made up of?
(c) What value of Sachin is seen in this act?




OR

Vasu was helping his mother in laying the table when they had some guest for dinner. Vasu
was about to sprinkle salt on salad for dressing. His mother stopped him from doing so and
told him that it is too early to sprinkle salt on the salad, he should do so only when they are
seated for having the dinner.

(a) What would happen if salt is sprinkled on the salad?

(b) Which property of cells is seen in adding salt to it? Explain the process.

(c) What value of Vasu is seen as person?



